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Q. Provide the average cost to produce a GWh at Holyrood using No. 6 fuel and the 1 

average cost to produce a GWh using diesel.   2 

 3 

 4 

A. For Holyrood, using No. 6 fuel, the average cost to produce a GWh is indicated to be 5 

$106,100.  The average cost to produce a GWh using No. 2 diesel fuel, using the 6 

largest source – the Holyrood GT, is $214,000.1 7 

                                                      
1 This information is included on page 10 Table 7 of the Application in cents per kWh.  


